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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]

4500 -

4000

3500

3000 -

2500 -

2000

Warning: col[FVOEC ] is missing

—@— ECO

10

20

25

30




Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-12_0
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P3-12
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P3-12
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P3-12

BriE) | EBIATK (7)) | EME (EH/HK) | XR ERE

09:15 255 100. 0 FE| 1Ri%e09:15 Bz (KAEESE)
11:00 255 100.0 PRl {Ri%e11:00 Bz (GRAEBRSE)
12:45 255 100.0 FA| {Rige12:45 Bz (RAERSE)
23t | 765.0 (3%%) 300.0 3 PUHKEC: 2080.0, PH: 5.7

MERRNER S 5STREAERSE (166.0 : 122.0), AJEEHF—RZ XA45
FRGEBERT 4K (255) 50 HA (208. 0) A FF, FIREHIT % MEIERS % XIER
ZRIASEBRIERE122. 0 ml.

RERSEBREC (2700.0) 5igEEC (2000.0) REK K, BFHRE



P3-12_0, Day=30 (2025-05-02)
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P3-12

AyiE) | EBIATK (FD) | EBE (BEH/HK) | XHR SRR

08:10 213 80.0 |&Z=| 1Ri%e08:10 Bzl (RAFERSE)
09:00 213 80.0 |Z=| 1Ri%@09:00 Bz (kBERSE)
10:10 213 80.0 [Z=| 1®i%e10:10 Bzh (REEESR)
11:10 213 80.0 Bl Rige11:10 Bz (REAERSE)
12:15 213 80.0 S| Ri&e12:15 Bz (REAERESR)
13:15 213 80.0 el Rige13:15 Bal (REAEESE)
14:20 213 80.0 B 1Rige14:20 Bzh (REEESER)
15:15 213 80.0 BS| 1Ri%e15:15 Bz (GGREEESE)
23t 1704.0 (8%) 640. 0 329333 %EC: 2080.0, PH: 6.0

TERRHEBR 2 STEEARTF (138.0 :

ZRIASERRIERE100. 0 ml.

100.0), FAIEEHT—@ L XA HS
LRGEREC (213) 5748 (170. 0) FF, FIREH T & @G EIRS £ XER

RERESBIEC (2757.0) Hi&EEC (2000.0) REIK, BHE




FRV (ml plant-1)

ET (ml/hr/plant)

P3-12_0, Day=29 (2025-05-01)
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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m=425, FV0=0 m=500, FV0=0 m=570, FV0=0
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